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©18%: 71013 S HI2 QLA FLI0, IS XIS BHSHD, S7H5tE 2el0] Mt LI

" 19-22%: 22 B e, 27 oot s, ) £, S| Na7Id 801 1 MR o 23

XMo@ HR5t7{Lt Zkatsts 0| QLI

1. “3t ASTIX(23F): 2A5H= M7I2S1t HIZ|MRAIS0A 2R dl-Hel 1

1) & 7H] &)@, 1-127F)
- AHO| SEtE|X| of= 7IEE(3-4F), FE/HOE Lo = BAH #Q|(5-7F; cf. 6:1)

2) 2A5h= M7 2t HIZ|MRIS0i[AH| I 7712 ‘51 (13-36R)
- XEIK HZE H=S HF5HH Hol= ZSuX St LHHA “o*E ziatet oA AiQ|(E5| MEx)= =

0 @3(2f Ysi=0| & #olrt.

2. =8 EMX| HFsH= oS0l Ye TE(24-25%)

[=}
1) SE| AR ‘O FAE QF° ota| of21(24:1-22)

2) Qx| &h(24:23-44): “0 3t 1 = OIR L ZELIL|"(36%E)
- 7t O{FRXIM...”(29-31H; cf. At 34:4; £ 2:31)
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Sh= 0| =2 AHH(24:42-25:30)
- Fstah/ost B HIR(UHO U22L” 24:42; “I{8|= FH|SD 28 24:44)
- & XL HIQ(“IHO] 28}, 25:13)

- E2E HIR((E5tD 3dE S01 21,23F,; “Ast A2 E S0, 26E).

3. Opx|at Algto| mict

| = Ry

- %WI 0| X|=Zs| &2 Xr(=%5xil LS| 2kX}) 5HLHE =& HO0| JL=X|2| 018(40, 45%; cf. 10:42; 18:6, 10,
14). “L43|7} 017| LY &N B0l X|=35| &2 Xt stLtof|A| & Z40] 2 LHA| & Zd0[L[2p’(40F).
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(1) 25:31-46 HEXY, ChA| QA FHO| EAl= A2 X S0l XIF35] 22 Abol| chgh 22(2] s LCt.

(2) CHat, =52 Er2et 50| otL|2t “&fstn 4 E"(25:21,23)= FRISHALICE
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